Smart X915X
AKUVOX intercom Quick Guide

Unpacking
Before you start using the device, please check the version you have received and ensure that the following items are included in
the shipped box:

Mainframe Accessories :

@ X915 x 1 VR Rubber plug (small) x 2 3P Rubberplug(medium)x2® Wiring cover x 1

N Rubber plug (large) x 2 L J sealingringx 1 m M3x4 crosshead screw x 6 == Diode x 3
ﬂ:=Torxwrenchxl @ Card reader touch plate x 1 @F\” Plateremovalkeyx1 o/ ~ Ropexl

@ 2x6-PIN terminal block x 1 @ 2x5-PIN terminal block x 1 @ 2-PIN terminal blockx1 ~———— & Pprybarx1

m M3x9.5 torx head screw x 2

Flush-mounting Accessories (Please find in In-Wall Installation Kit box):

Flush-mounting box x 1 Crwmmmee  ST4x35 crosshead screw x 4 = Plastic wall anchor x 4

Wall-mounting Accessories (Please find in On-Wall Installation Kit box):

ﬂ Wall-mounting box x 1 @— M4 x 30 crosshead screw x 2 Q:mmmm ST4 x 20 crosshead screw x 4
= Plastic wall anchor x 4

PrOdUCt OverVieW Face-liveness Detection Camera  Camera

Infrared LED
White Light LED

Infrared LED
White Light LED

MIC MIC

Community 1
Q Buliding 65 - J

1 2-34 AM Wed 3-4-2020
o

Engli

Touch Screen

a8

B Tenants e Reception

Infrared Sensor
Loudspeaker

Card Reader

X915X



Smart X915X
AKUVOX intercom Quick Guide

Installation Environment

Please do not place device under direct sunlight.
If installing the device indoors, please keep device at least 2 meters away from light, and at least 3 meters away from window and door.

X ‘& X "y X o X X
-9 - ¥ X * g
. .
Backlight Direct sunlight Direct sun Indirect sunlight Close to light
through window through window
Attention:

Biometric recognition product may not be 100% accurate and applicable to all scenarios and enviroment.
For higher security purpose or scenario, please set up access authentication combination.

Installation
Step 1: Wall-mounting Box or Flush-mounting Box Installation

1. Wall-Mounting
1.1 With 86x86 mm embedded junction box in the wall

&

| N
S| | )
1 . <

|
%

Fix the wall-mounting box on to the embedded Take off the box and drill the four marked Place the wall-mounting box closely against the
box (86) with two M4x30 crosshead screws, holes using 6 mm drill bit hand drill before wall while lining up its four holes with their
mark the positions of the four holes of the inserting the plastic wall anchors into the corresponding drilled holes and then fix the
wall-mounting box at the hole center. drilled holes. wall-mounting box on the wall by tightening the

four ST4x20 crosshead screws and two M4x30
crosshead to the plastic wall anchors.

1.2 Without embedded junction box in the wall

&

. N

| —
||
é %
s . - _ -~ -~ a
\/ L |
According to the position of the wire on the wall, put the Drill the marked holes using 6 mm drill bit ~ Place the wall-mounting box closely against the wall
wall-mounting box closely on to the wall and mark the hand drill before inserting plastic wall while lining up its four holes with their
four positioning holes, while making sure that relative anchors in to the drilled holes. corresponding drilled holes and then fix the
positions between wall-mounting box and wiring hole are wall-mounting box on the wall by tightening four
correct. ST4x20 crosshead screws and two M4x30 crosshead

screws to the plastic wall anchors.
Note: It is recommended that you keep the bottom side of the square hole
10mm away from the wiring hole on the wall as indicated in the figure.



Smart

AKUVOX intercom

2. Flush-Mounting
_— ]

L L
Cut out a square hole
with the dimension

Insert the flush-mounting box in to
the hole and mark the the

X915X

Quick Guide

Break off the round knock-out

%

Make sure that the flush-mounting

(height*width*depth
=337*122*57 mm).

positions of the four holes of the
flush-mounting box on the wall,

then take off the box and drill the

holes on the marked positions
using 6 mm drill bit hand drill
before inserting the plastic
anchors in to the drilled holes.

wiring holes and lead the wires
through the corresponding hole in
to the flush-mounting box, then
press the flush-mounting box in to
the square hole. The upper and
lower folded edges of the
flush-mounting box must fit snugly
against the wall. Then fix the box
using the four plastic wall anchors

box are well tightened and its upper
and lower folded edges are fit snugly
against the wall, fillin the gap
between the wall and the
flush-mounting box using cement or
non-corrosive structural adhesive
and wait until the cement is
hardened before proceeding to the
next step.

STEP 2: Wiring Cover Installation

Hang the one end of the rope on
to the square hanger on the
wall-mounting/flush-mounting
box then hang the other end of
the rope on to the square hook
on the device for the
convenience of the later wire
installation etc.

and the four ST4x20 crosshead

SCrews.

Connect the wires to the terminal
blocks as needed (for details, refer to
"Device Wiring"), then insert the

terminal blocks into the corresponding

interface of the main board as
indicated in the drawing according to
the number of PIN.

Note: The pry bar attached can be used to unplug
the terminal blocks if needed.

STEP 3: Device Mounting

Take off the rope and hang the device on to the
two square hangers on the wall-mounting/
flush-mounting box.Stick the plate removal key

—

holes.

in to the small hole on the upper left corner of
the card reader touch plate to pull out the plate.

Drive the two M3x9.5 torx head
screw in to their corresponding

Choose a suitable size rubber plug
(small, large and medium) to hold
down the wires, while tearing off the
adhesive sticker on the selected
rubber plug and stick it on to the
X915 wiring cover and then tear off
the adhesive sticker on the other
rubber plug of the same size and
stick it on to the wiring cover in the
position as indicated in the drawing.

—

Press the card reader
touch plate in to the
card reader opening.

Press wiring cover and
sealing ring into the
corresponding groove as
indicated by the arrow and
then tighten the wiring cover
by six M3x4 crosshead
screws.

—

Installation is completed,
please remove the
protective film.



Smart X915X
AKUVOX intercom Quick Guide

- +[{00P_0uT [ LooP_ G ReLAY oz [FeLn o] reavncz |

Device Wiring

[ Woo0 | Woor | ov [Reu.vor ReuA_cou] Recicr]

l@lam
J[Rwes [romss | o [rewwe] aw [ reww]

[ i

[ RELAG] oo [ ReLAY vos ReLAv_cow] Recv.vcs |

\ / =
= LOOP_OUT—— = Loop \ >
Induction Loop 91. LOOP GND j Output |« \ / ® Irﬁﬁ%ﬁ’;‘pﬂ Wiegand Card Reader
NO2 Relay? . 08
® -—
Door Lock com2 Output o Relayt NO1
3 — o S com1
1*) — Nci
’ IN3 Relay3
Exit o
=] 6N | Input PR E FIWR_IN : Voltage Transformer
- NO3 Relays npu PWR_GND
(T | Rel
Door ock | £ E]}i c’\?cngs Ot

RS485 ————— 485A J—
Input/Output Ei 4558 :@ Elevator Control Device
Relay2 GND
Input ri N2 [o-]|] |Exit

Relay1 —— GND
Input [ IN1 EjExn

& Warning

When you connect a device containing a
coil, such as a relay or an electromagnetic
lock, it is necessary to protect the

intercom against voltage peak while P
switching off the induction load. For this Diode
way of protection we recommend a diode Lock -
1A/200V (included in the accessories) Terminals

connected antiparallet to the device.

Wire Length & AWG Table _

Please follow the properly measured wire gauge/length to install device:

12 AWG 14 AWG 16 AWG 18 AWG 20 AWG

24V 2A Adapter <40m <30m <20m <10m <5m

Application Network Topology

SIP Video Phone  Indoor Monitor Network Video Recorder

o (third party) (thi
L | : ﬂ
PoE | |
( LAN )
| PoE+ | PoE+ | PoE+ |PoE+
E B R R R NN
X915 X915 X915 X915

Configuration Operation
1.IP address Checking: Press 9999 on the dial screen, then press Make a call: _
3888 to enter the system screen and click Info to check the device IP  Enter the IP or SIP number and press Dial tab to make a call.
address. X915 uses DHCP by default. Receive a call:
2.Account Registration: On the device, go to Setting > Account to X915 supports Auto Answer by default. Incoming call from indoor device will be
enable the function and fill in the account information, then click answered automatically.
Submit. (Please refer to user manual for more information). Unlock by PIN:

Click PIN icon to enter PIN code for the door access.

Unlock by RF Card:

Place the configured RF card on the RF card reader area for the door access.

Notice Information
Informati ined in this doc is believed to be accurate and reliable at the time of grmtmg This document is subject to change without notice, any update
to'this document can be viewed on Akuvox’s website: http://www.akuvox.com © Copyright 2022 Akuvox Ltd. All rights reserved.

AKUVOX (XIAMEN) NETWORKS CO., LTD. ‘ | ||| |||| ’l
Add.: 10/F, NO.56 GUANRI ROAD, SOFTWARE PARK II, XIAMEN 361009, CHINA Y591500000
www.akuvox.com




